N = 0 &8 AFH Y & A AN
20208 & 20l & LB H DI E 2 AFA
SA: JIEZAA
=R ST
ool AWM I EH CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
=2 A 3,109,307 1,708,993 1,400,314
Al 28,451
- 3,080,856
Ay A2t 366,310 363, 132 3,178
Al 28,451
- 337,859
S PSS - SN 212,090 213,530 A 1,440
THEHUIHY L FALN LY 84,010 85,450 A1,440
201 LEt2 Y| 59,760 57,450 2,310
01 AFR 2t2ldl 56,760 57,450 A 690
ORIILRENAN 12,000 *800F 13| 9,600
OFRFYRED SHA 10,000, 000& 14! 10,000
OXF et 2A 29 3,000,000 3,000
OREFQAIH 10,000& x 1002 *2& 2,000
OFRESE OHLf ANEHR} 2,000,000 2,000
OxRdsE:e, 8@ 5 H& - 22
500,000& *63] 3,000
ORFEUFA AP S 500,000& 65 3,000
OgREIIRAAAZ HFAHxY 70,0008 x10Y «23 1,400
OgYREINAIAZ M A=Y 10,0003 x10H x13] 100
OFFHM XA 26,400& x 150 3,960
oges+E 15,000& x1,000% 15,000
O+ EC0] HIY 130,000& *x5J} 650
O+ ECY0l M ¥ I+ 20,000& x5J1 = 100
O+ 9ol oI 350,000& x2H 700
ORI 23 U= 750,000& »2H 1,500
OWLIHAE AdDN=E 750,000& *1H 750
03 S AIS H I 3,000 0 3,000
Oz 2ets) 3,000,000 3,000
203 PR =&Y| 22,000 22,000 0
03 AIHF=A SR =AH| 22,000 22,000 0
OXNX7E R=X 17,000,000& 17,000
OJIE 2 ALA AIZHE=X 5,000,000& 5,000
303 ZAZ 1,000 1,000 0
01 ZAZ 1,000 1,000 0
OdNBI} F=2AN A& 1,000
oXRH 500,000& *1JH & M 500
o 300,000& 10 £ A 300
o&d 200,000& *1H & M 200
405 XH&HF S I 1,250 0 1,250
01 AL =S EF SHI 1,250 0 1,250
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Il & 2HAFA!
=R ST
ool AWM I EH CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
OkEs P2¢ 1,250,000 = 1CH 1,250
ol 35 XN& 7,580 7,580 0
201 et A H| 6,580 6,580 0
01 AFR2t2l Yl 6,580 6,580 0
OHIMNBZAMAE 40,0003 *130% 5,200
OMBANRLAIZD AAE - M2l =X E
8,800& x1008 880
093 ERXE M 500,000& 500
203 &R =&H| 1,000 1,000 0
03 A =X R =XIH| 1,000 1,000 0
O2A & 2 AHFA 1,000,000& 1,000
=H3s g€ F& 120,500 120,500 0
201 LEt29Y| 8,500 8,500 0
01 AFR2t2l bl 3,500 3,500 0
O=2Huns =& 3,500
oAz 30,000& *300H 900
ocs9gs 700,000 1«3 2,100
o3l ftg S 500,000& 500
02 =294l 5,000 5,000 0
O=Hg XN& Jls <=2 5,000,000 5,000
202 04| 101,000 101,000 0
03 =220l 70,000 70,000 0
O3]2 =2A=E 60,000,000& 60,000
O=Z2Hugs =& 10,000,000& 10,000
04 = Ml 30 i 31,000 31,000 0
A ol 2 # X 0FY 31,000
o OFAlOF & 700,000& *30H 21,000
o H| Ot Al OF A 1,000,000& x10 10,000
203 2R E | 3,000 3,000 0
03 A=A SR =AH| 3,000 3,000 0
O=2Muns =& 3,000,000& 3,000
301 et X = 8,000 8,000 0
06 QI2t01 =2 (4 B 5,000 5,000 0
OA=T A2 Q1220 E &2 0 HI
5,000,000& 5,000
07 28l x=&0dH| 3,000 3,000 0
O=2MuNEsxFAH =3 3,000,000 3,000
BelHo YHeHy XX 50,500 50,560 A 60
HH,S2,28HgL2 =X 50,500 50,560 A B0
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EXN: JIE2AA
A NN S
Sl MEE SHEA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
- 8,502
201 LBt 39,898 40,294 A 396
Al 19,949
- 19,949
01 AP 22| H| 39,898 40,294 A\ 396
OXZAMNE E2HH € MAEL 39,898,000 39,898
Al 19,949
- 19,949
SHEAIZEL XS 7,240 6, 140 1,100
201 et | 6,640 5,640 1,000
01 AP 22| d| 6,640 5,640 1,000
OSHAHE 33,000& 1008 3,300
OSHZA 29&E 1,500, 000& 1,500
OSHEAI 228+ 80,000 =80H 640
OMEHMEA Z2EH X4l 100,000 =2CH 200
ONSHLEHIESE 222 M=
1,000, 0008 1,000
202 04| 600 500 100
01 2Ll 600 500 100
OAMSHZA AAR S 20,000& x6H 5 600
SHe|&ol RIS &=/ 2,995 2,995 0
HHIHE 22 =& 2,995 2,995 0
201 LBt Y| 2,395 2,395 0
01 AP 22| d| 2,395 2,395 0
OFMIMNERIG &G 70,000& 54 *33] 1,050
OFMINERES /A A=sH H &
20,000& 55 100
OFRMNEYE =222 H& 300,000& 300
ORMNE 293 300,000& 300
OAMME s ZAI=S 370,000& 370
OFMNE 42 24X ZT&E H&
55,000& x5 H 275
303 ZA& 2 600 600 0
01 A2 600 600 0
OFMNNE g2 =& 600
oX R 300,000& x1H 300
o2 %= 200,000 x 1 200
oZ& & 100,000& »1H 100
TEX SHEX L AHLAZS ®) 36,583 32,505 4,078
SATMASE 22 & 2 24,225 21,465 2,760
201 Yet2 Y| 23,725 20,965 2,760
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EXN: JIE2AA
M AMS IXME IS
Col: EEHQ MASE (ctel:&2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
A8 XXME DIt = 203,644 201,888 1,756
SEH0 a2 203,644 201,888 1,756
EdstD HEHO Ha2E 75,244 73,488 1,756
201 et d| 40,312 40,000 312
01 AR 22l ] 37,120 37,120 0
02020 =H0W A0 AFEH A M
30,000& *705 *33] 6,300
02020 =HW A AFHAEH AN
15,000& 702 *33| 3,150
02020 =HUW &AM 33,000& x60 2 *x33| 5,940
02021 StHE M 35,000& *708 2,450
02021 XIS XXEH daEHSE SHI=
15,000 708 1,050
02021 Ol AFRH AFHE A M A 45 000 708 3,150
02021 Ol AFOH AFSE A S A 20,000 708 1,400
02021 ol & A 45 000& =708 3,150
02021 AL Xl 0l A A 10,000 x708 700
OEJ)IMEAHE= 15,000 x708 1,050
oJI2=2sAHE 15,000 x50 750
OoJl22sdHZHE 12,000 x50 *13] 600
OMIAA AN FH2E
70,000& x5H x33] 1,050
OXNYBEIYAAS EHa+Y
70,000 *9H *43| 2,520
OBABHAAAAS B+
70,000 x6H *33] 1,260
OuldEY & THEEASY S|
8,000 x4 x50 1,600
OME2g9s=E 100,000 103 1,000
02 2224 H| 3,192 2,880 312
ONY - MEsa2SdEBZ2IMAIAE X2
266,000 x 1200 & 3,192
203 SR F & 3,000 3,000 0
03 AIZH =X 2= X H| 3,000 3,000 0
OAEME2Y & =ME &= 3,000,000& 3,000
301 dEtE M= 7,800 7,800 0
12 JIEtE A2 7,800 7,800 0
OO0l At Hl A DR B4 50,000& *3¥ ~12& 1,800
OXgeExXz Al EA 3,000,000& 3,000
OO0l At DS (BI2E01) 3,000,000& 3,000
303 A2 6,000 6,000 0
01 Za32 6,000 6,000 0




Il & 2 AFA
AFB UXWE IS
SN0 A28 SEREED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OlaAd N2 (BRH) 3,000,000& 3,000
OMBASHEY LN A4 3,000
o X4 500,000& *1JH £ A 500
o 350,000 *30H & Al 1,050
o o 250,000 x50 £ A 1,250
oAHZZ(XNEEAM) 200,000 *1JH & A 200
308 MXISHMSOIA 17,650 16,688 962
10 B 2SUHUSHEAEAE AN Y| 17,650 16,688 962
OX ST ZUCIAAE stz A S| 22|
17,650,000& 17,650
403 XX S S K201 A 482 0 482
02 2I|2S0 et =22 EAIS Y 482 0 482
OXSETHE 22| Al AE HW/SW Al 7 & 2
482 ,000& 482
FOIEAHMAM &4 3,400 3,400 0
201 et 3,000 3,000 0
01 AP 22| H| 3,000 3,000 0
O A== S 500,000 14 500
Ouaten 9 1,100,000 1,100
OFQHOOAAS BHSY
70,000& 10 23] 1,400
301 et A =2 400 400 0
09 SHAIAHI X &2 400 400 0
OFQEHOIOAA 5D S B B4
20,000& 10 23| 400
ESY PooLAEHl A& 125,000 125,000 0
201 LBt ]| 30,000 30,000 0
01 AP 22| H| 30,000 30,000 0
OBAZ2E 2Bt H|(POOL) 30,000,000 30,000
202 04d| 80,000 80,000 0
01 2L HI 80,000 80,000 0
OZ22 Z2A=Z 04| (POOL) 80,000,000 80,000
405 XHo&HF S HI 15,000 15,000 0
01 XAt 2 FF S| 15,000 15,000 0
OB AZ2E XH&HE S8l (POOL) 15,000,000& 15,000
HglE e 22 2,462,013 1,065,820 1,396,193
ol "l "l 2,462,013 1,065,820 1,396, 193
ol g1 4] 2,462,013 1,065,820 1,396, 193
801 0l bl 2,462,013 1,065,820 1,396, 193




2N

X{ XH -
S =

Il 2 AA
GlHI= THE 22l

2ol (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 BHolli bl bl 1,346,180 1,065,820 280,360
ounlgltl 1,346,180, 000& 1,346,180

BURERES 1,115,833 0 1,115,833
OURERE=S 1,115,833,000& 1,115,833

A2 (I 2 AA) 77,340 78,153 A813

Jl=&l 77,340 78,153 A813

FNMII=2ZH 77,340 78,153 AB813

201 Let24dy] 11,340 10,773 567

01 At 22l 11,340 10,773 567
O2M2Z JIEs8H| 279,000& »20H 5,580
OJiege=d S&Hl 8,000 *34x20H«12& 5,760

202 oddl 62,400 59,280 3,120

01 SLHOYI 62,400 59,280 3,120
OJlege+=8 ol 260,000& x20H »12& 62,400

203 YR =&l 3,600 3,600 0

04 FENSEHR=LH| 3,600 3,600 0
ORMZE2ZE 300,000& »12& 3,600




